17/11/16
THM 243 Rooms Division Management

Midterm Exam Answer Sheet
1. Why shall the reservation department maintain a strong coordination with marketing & sales department? What risks might occur if such a coordination is not ensured? (2 Points)
The reservation department shall maintain a strong coordination with marketing and sales department due to the fact that both departments do reserve from the same pool of room supply. If such a coordination is not ensured, hotel shall either be faced with overbooking or potential room revenue loss.

2. What are the responsibilities of Accounts Receivable Clerk? (2 Points)

The responsibilities of accounts receivable clerk are as follows:

· Receive copies of different vouchers from different points of sale.
· Sort those very vouchers by room number.

· Place each voucher to its respective place in the voucher rack.

· Post voucher(s) corresponding to the same room to its appropriate folio.

· After posting, maintain the folio’s net outstanding balance.

· Compare folio’s net outstanding balance with related folio’s floor limit.

· If said folio is a high balance / risk one, inform hotel’s points of sale on the matter.

3. Why shall registration clerks determine guest reservation status as a very first step of the arrival stage of the guest cycle? (2 Points)

Registration clerks shall determine guest reservation status in order to understand whether said arrival is a potential guest or walk-in. This very determination is necessary. For, the reservation status of the guest determines the way to approach that very guest, the time needed to register him / her as well as the room rate to be awarded.

4. Contrast the usage of vouchers in the three recordkeeping systems? (3 Points)
While in manual systems, vouchers do have two tinted copies and prepared by hand, in semi-automated systems, vouchers still have two tinted copies, yet they are machine / computer generated. Lastly, in fully-automated systems, vouchers have only one copy and they are generated by electronic cash registers, devices connected automatically to the main server.

5. What are the advantages of the fully-automated system over the semi-automated system as far as arrival stage of the guest cycle is concerned? (3 Points)

The advantages of the fully-automated system over the semi-automated system as far as arrival stage of the guest cycle is concerned are as follows:

· Potential guests experience a rapid check-in due to pre-registration activities.

· An electronic transfer of pre-registration records is conducted for all potential arrivals.

· Easier and convenient validation / blocking / charging of / from credit cards via on-line authorization terminals.

· In some types of hotels (ex. Holiday villages / clubs), there is a possibility that guests can register by themselves via self-check-in terminals.
· Folios are created as softcopies (electronic guest / master folios) not physically. 

6. Talisca Holiday Village agrees to allot Anderson Travel Agency 15 Single, 30 Double & 5 Triple rooms for the period running from 18/11/2016 (Friday) till 16/12/2016 (Friday) for each Tuesday & Thursday arrivals for 4 nights. According to the allotment contract signed between both parties, Anderson Travel Agency has to send its final list latest 5 days before actual arrival of any group.
a) When is the first group estimated to arrive to Talisca Holiday Village? (1 Point)

The first group is estimated to arrive to Talisca Holiday Village on Tuesday 22/11/2016.

b) When is the cut-off date of the first group? (1 Point)

The cut-off date of the first group is on Thursday 17/11/2016.

c) Suppose, by the cut-off date of the first group, Anderson Travel Agency communicated a Final List showing a need of 11 Single, 24 Double & 3 Triple rooms. How many rooms are washed out? (1 Point) Calculate the Wash Out Factor Percentage. (Round your answer to the nearest cent) (1 Point)
· Initial allotment = 15 + 30 + 5 = 50 rooms.
· Number of rooms requested (Final List) = 11 + 24 + 3 = 38 rooms.

· Washed out rooms = 50 – 38 = 12 rooms.

· Wash out factor = (12 / 50) * 100 = 24.00 %.

7. What are the two factors considered when assigning a room to a guest? (2 Points)
The two factors considered when assigning a room to a guest are as follows:
· Future reservation commitment.

· Maximization of revenue (i.e. to be sales-minded).

8. What are the factors to be considered when accepting cash as a method of payment? (2 Points)

The factors to be considered when accepting cash as a method of payment are as follows:
· Counter-feats (i.e. cashiers shall distinguish between genuine and fake money).

· Short cash positions (i.e. cashiers shall make sure to get no less than what they should collect and give back no more than what they should give).

· Cash equivalent instruments (i.e. cashiers shall be trained as to accept so many cash equivalent tools that are legally accepted as cash payment ex. debit cards, traveler checks, money orders…).

9. Contrast “Twin” and “Double-double” rooms?  (2 Points)

While “twin” rooms are rooms with two twin beds that may be occupied by one or more persons (Size: 99 x 190 cm), “double-double” rooms are rooms with two double (or perhaps queen) beds that may be occupied by one or more persons.
10. At Gönül Hotel, Gökhan has accumulated, just before checkout, the following details in his guest folio:
- Room Charges


$ 5,120.75
- Food Charges


$ 2,020.14
- Beverage Charges


$ 257.83
- Telephone Charges


$ 205.25
- Extra Charges


$ 30.50
- Payment (During Stay)

$ 400.00
- Guaranteed Reservation Payment 
$ 615.00
Upon thorough analysis of his expenditures, Gökhan objected the high beverage consumption. Gönül Hotel’s cashier checked again the beverage vouchers and found that Gökhan was 20 % overbilled (this error was due 2 days ago). He corrected the posting error and presented the folio to Gökhan for signature.

a) What supporting document is needed to prove the correction of the posting error? How much (in US Dollars) should this very document include? What is the effect (i.e. Debit or Credit) on the folio’s net outstanding Balance? (2 Points)
Since the posting error is detected and corrected after the closing of the business day, an allowance voucher is needed to prove the correction of the posting error. Moreover, the amount of allowance voucher shall be $ 51.566 (i.e. 20 % * 257.83). Lastly, the effect is a credit (i.e. decrease) on the folio’s net outstanding balance.  
Suppose that Gönül decided to settle his guest folio, 60 % by cash, and the remaining by Credit Card.
b) What is Gönül’s Net Outstanding Balance? (1 Point)

· Net Outstanding Balance = Total Charges – Total Payments = (5,120.75 + 2,020.14+ 206.26 + 205.25 + 30.50) – (400.00 + 615.00) = 7,582.90 – 1,015.00 = $ 6,567.90.

c) Journalize the zeroing of the guest folio. (2 Points)

       Dr

       Cr.

-------------------------------------------------------------------------------------------------------------


Cash




$ 3,940.74

Credit Card Payment Account
$ 2,627.16





Guest Account

$ 6,567.90
-------------------------------------------------------------------------------------------------------------
d) What are the supporting documents needed as to close properly Gönül’s folio? (1 Point)

· Cash Voucher with an amount of $ 3,940.74.
· Credit Card Voucher with an amount of $ 2,627.16.
· An invoice with an amount of $ 6,567.90.

11. Adriano Hotel consists of 250 rooms. Mr. Tolgay has been newly hired for the position of an Assistant Reservation Manager. He is supposed to calculate how many rooms Adriano Hotel needed to overbook for the night of November 28th 2016. 

Mr. Tolgay was given the following information at hand, both updated and concerning the night of November 28th, 2016: 
· Number of rooms reserved: 


193 rooms

· Number of rooms occupied by stayovers:
32 rooms

· Forecasted No-show Percentage:

6 %

· Forecasted Understay Percentage:
 
5 %

· Forecasted Overstay Percentage:
 
2 %

· Forecasted Cancellation Percentage: 

4 %

· Expected Out Of Order Rooms:

2 rooms
Suppose you are the Rooms Division Manager in Adriano Hotel. Since Mr. Tolgay is newly hired, he knocked your door and wanted your assistance. Could you help Mr. Tolgay to come up with:
a) The maximum number of rooms (including overbooked rooms) that can be reserved for that very night? (3 Points)

· Total number of rooms expected to be occupied for the night of November 28th, 2016 = 193 + 32 = 225 Rooms
· Adjustment due to no-shows  = - 6 % * 193 = - 11.58 Rooms
· Adjustment due to understays  = - 5 % * 32 = - 1.60 Rooms
· Adjustment due to overstays  = 2 % * 32 = + 0.64 Rooms
· Adjustment due to cancellation  = - 4 % * 193 = - 7.72 Rooms
· Total adjustment = - 11.58 – 1.60 + 0.64 – 7.72 = - 20.26 Rooms
· Total number of rooms expected to be occupied for the night of November 28th, 2016 (after adjustment) = 225 – 20.26 = 204.74 Rooms
· Total number of rooms available for sale for the night of November 28th, 2016 = 250 - 2 = 248 Rooms
· Maximum number of rooms to be additionally reserved for the night of November 28th, 2016 = 248 – 204.74 = 43.26 Rooms
· Total number of rooms expected to be reserved and occupied for the night of November 28th, 2016 = 225 + 43.26 = 268.26 Rooms.
b) The number of overbooked rooms? (1 Point)

· Total Number of overbooked rooms = 225 + 43.26 – 248 = 20.26 Rooms.
c) The overbooking factor? (1 Point)

· Forecasted Occupancy Percentage = 268.26 / (250 – 2) * 100 = 108.17 %
· Overbooking Factor = 108.17 % - 100 % = 8.17 %.
N.B: Answers to a), b) & c) parts shall be rounded to the nearest cent.

GOOD LUCK!
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